: S1x Sigma

S AR A

JI A
J|lH2:
J|H3:

JIl A
Jl A 2:
J| H3:

Ho tay = 1 = 3

48 49
56 55
50 51

38 39
61 60
50 51

49
56
51

39
61
51

49
57
52

39
62
52

CLKI: AH D1 HIS 2 atek (2)

40 :
61 :
51:

D Ba =49
R =56
. B2 =51

T = 39
B =61
=51

Analyze (2AH2A) 445



: S1x Sigma

SAI2A Al S22 AHANF T

oIl T =T O — o

g 24 =22 28X ==

1 26.5 31.2 279 30.8

2 28.7 28.3 25.1 29.6

3 25.1 30.8 28.5 324

/] 291 279 242 31.7

5 27.2 29.6 26.5 32.8
Ho 27.32 29.56 26.44 31.46
sE 28.70

SST= (26.5-28.7)2 + (28.7-28.7)2--- + (32.8-28.7)2 = 115.93
2. 49 ot®l ¥E SSE = SSW= X3 (Xj; - X)?
SSW = (26.5—27.32)2+(28.7—27{3I2)2+ --+(32.8-31.46)2 =10.68+8.57+13.2+6.6=39.08
3. #FE ¥S SR = SSB= ¥ N;(X; —X)?
|

SSB = 5(27.32-28.7)? + 5(29.56-28.7)2 +5(26.44-28.7)> + 5(31.46-28.7)? = 76.85

Analyze (242 A) 446



: S1x Sigma

=ot24 H (ANOVA table)

H=0l & DF Sum of Square =4t Fgt
J= 28 -1 SSB msg  MSB
MSW
1 W N-r SSW MSW
=l N—1 SST

1. SST = SSW+SSB

2. 5% N-1=(r—1) + (N-r)
DF of SST = DF of SSB + DF of SSW

SSB
3. 18 2t 24H(Mean Square Between): MSB = F_1
SSW
4. 12 L} 24HMean Square Within): MSWZE
5. F_o o r-1, N-r MSW

Analyze (242 A) 447
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: S1x Sigma

Neg 4= 0|8e &

I}

= Al

PriType PriArea PrShape LinerTyp Housing  MatiAge DamperOC Response

I P 2 3 8 1 82
2 WM 2 0 z 51 986
1 0 3 1 2 M1 R
2 00 2 0 z BT 8
3 e 8 1 2 01 1208
g | 2 3 4 1 94
i s 1 2 6 4 L
1 Mg 1 1 1 100

Analyze (242 A) 449



: S1x Sigma
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Ul
=

2 o I} 2 Funacbb.mtw0 =01 QIC}.

Q BFS(response)= EZ 20 A L2 A8 2
= (]

20l SERS0 et G0 It
® PriType: X R &
® priarea; £ =2 HA
® Prtshape: 352 2 R0l
O

T

® LinerTyp: O%E CHZ£ 9| 20|

® Housing: *E =2 <

® DamperOC: E& £ 2

ZEMEWM FSXcl =02
AR Ol ®GHEI RAF C£= Al S

2UHA 0= d&Eotd @EP.
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: S1x Sigma

&l 3 A

A I Scatt39.mtw

Erosion.mtw

Analyze (&2t 3|H) 453
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: S1x Sigma

n =
AL IO D 2=0{0F

ADE RALZ 61| QI8 TR ALE

—- 2812 [I0|E: O] 0= #1401 S JHQ| ¢ 0|

EIZ J|&ol=d Al

25N O2 THGIH, 2HS [0|HE &

MHMOR 0|20 H AUCH - 0|AHSS x 2ty

(x, V)2 22T =2 5IAL.

Y HOZ X2 AU HA(SE )2t

B2, YE S HA(ZSS HM)D B

2},

Analyze (At2t3} 3|H)
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S1x Sigma
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: S1x Sigma

OlL!

420 —
410 —
(]
= 390 — ) ° e o
EL [ [
E 380 — ° () °
5 370 — .
3 ° ° °
S 360 —
@) (] °
350 —
°
340 —
°
330 —
°
320 1 1 |
350 400 450

Supplier(& & 2 A1)

n

JHO

[
1%
Yu
£o
o

A} =

_I—’l O =

0.834, P-gt =0.000
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